Vi
=
S

l1/odo/d

Ratio to ATLAS

H*Y [1/Ge

[EEN
o
R

-
o
@

107

0.5

13000 GeV pp
I L B I

tt
= I L L I L BN B B = )
— - 45
- ttHT (ATLAS semileptonic ttbar) 1@
- %
o
—
= N
— ] d
— — <
. e
B |
®
=
= I
‘ -
— —] ™M
—| = <t
— 4™
— o
o
— —1M
—i
B =
— e
— B ATLAS = %
- —a— Pythia 8.308 default — °
- ¢ Sherpa 2.2.5 default n B 3
%)
= =0
— -1 &
L 1O
I PR T T RO RO (NPT SO TU AU NN NN AU N SRR SR NN SRR SRR T NP B =
:l T T T T | T T T T | T |"‘ '_l— T | T T T T |:
- . 42
- At -
1
L ’ -
_¢ ]
| —0.5
I T S SR T I T S SR T I T S SR T I T S SR T l
0 500 1000 1500 2000



	Contents
	Page 1


